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Q#1 | Circle the correct option 1x7=7
| | 1fOA =3, 0B = b then AB =
a |ab b | d+h ¢ | b-d d i b
2 | |cosatl + sinaj + Ok|
a 0 b | -1 c 2 d 1
3 Angle between the vectors 4i + 2j — kand —i + j — 2k is
30° b 45° c 90° d 60°
4 Ifa, 3, y are the direction angle of a vector then cos’a + COSZﬁ + COSZ)/ =
a 2 b| o0 c | -1 d 1
5 Non-zero vectors @ and l_)) are parallel if a X B =,
a 0 b |1 c | -1 d | (ab)
6 The triple scalar product of vectors, calculates the volume of ;
a | Triangle p | Parallelogram ¢ | tetrahedron d | parallelepiped
TG xD=;
a |1 b |i ¢ |0 d 2
Q#2 | Write short answer of following question. 2x7=14
i Find the unit vector in the direction of V. = 2 — 3j
ii | Findavector whose magnitude is 4 and is parallel to 2{ — 3] + 6k
iii | Computeb Xaifa=2i+j—k,b=i—-j+k
iv | Find the value of @ so that the vector i +j ,i +j + 3k and 2i +j — 2k are coplaner ;
v | Find the value of & so that the vectors ai + j, i + j + 3k, and 2i + j — 2k are coplanar;
vi | IfU =3i—2j+ 2k,andW = 5i — j + 3k, then find |3V + wW]|
vii | Find a vectors whose magnitude is 4 and is parallel to 21 — J

Q#3 | Write detail answer of these questions. 4+5=9

a. Ifd+b+C=0,thenprovethatd Xb =bXC=CXd

b. Givenforce F = 2i + j — 3k acting ata point A (1,-2, 1) Find the moment of F about the point B(2,0,2).
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